N of reco track vs dxy(PV)

| N of associated (recoToSim) tracks vs dxy(PV)

N of associated (recoToSim) looper tracks vs dxy(PV)

2 F g F 2 F g
8 o[ 8. 5[ ] g
S 10°F S 10°F 5 £
F ] F 2 g
[ B F 8
10°F 10°F g
E E 5
F F 1=}
10°F 10°F
10°F 10°F
10f 10
jl hl
o e 1} k=] =]
T 1.05] I : s ©
e F A o4 14
095 : 06f--i--- - SO ol oL
0. 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 b el 4 i e b Rell Bl 3 1 bl e
=25-20-15-10 -5 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 -25- 20 15 10 5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
DOM_T1 IGINAL
T M DIFIED_layerProcv2
[Nof reco track vs d DIFIED layerProcv2 OctoberVersion e
L 2 % 2
g 100 £ g
o o 103 Q
E £
10* g
=3
=
10° 10%
10?
10
10f---r-e -
) o 4 ) °
T g T 4 T
o @ 1.2 o . 14
o9 SOOI | IR
1 -1-0. 8—0 6—0 4020 02040608 1 -1-0.8-0.6-0.4-0.2 0 0.20.4 0.6 0.8
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (1ecoToSim) looper racks vs dz(PV) |
%] %] [4] ]
R g £ 2
g I g g g
= 10t < 10°F © 10° @
E g E ¢ 10 2
E R 3 8
0 10°F g
3 3 10?
10°F~ 10%E-
10 t— -
1;{ 1
9 1.uofF 9 9 1. 9
= ] EEE 2 8
o o o 14
14 H#H 9
0.95] - r - 0.95" - 0.8! : i = T : i
=30 -20 -10 20 30 =30 -20 —10 20 30 =30 -20 0 10 20 30 -30 -20 -10 0 10 20 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
[Nof reco track vs dz(PV) ] N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper racks vs dz(PV) |
2] 1%} 123 0
x < X x
Q Q [5] (=)
g 8 8 8
[ [} Q
2 £ g
=
3 10
o o o o b
3 3 T 17 3 :
o4 14 o4 14 .
O A 4. ... .
; ; ; ; ; ; ;
09T 0 05 1 0T 05 0 05 1 0¥ =T =5 o0 05 1

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)



	Contents
	Page 1


